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Ideals for irreducible component#ﬂ)f Xpar

I = (w® +u”+- +3u+1)

* 1 irreducible components of dim¢ = 0, with total 18 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I = (u'® + u'" 4 13u’® + 1205 + 68u'* + 57u'® + 183u!? + 136u'! +
269u'0 + 171u® + 211u® + 108u” + 80u® + 28u® + 18u* + 4u3 + 9u? + 3u + 1)

(i) Arc colorings

0
a2 = \u

1
a? — u2

—u
al == u

u?+1
a5 = _u2

—ud —2u
az = ud +u

u

an =\ +u

w41
ag = \y? 4 242

ud + 5ub + Tut + 4u? + 1
a4 = \ !0 + 6ud + 1108 + 6u* — u?
u' 4 9u'? + 30u0 + 47u® + 38uS + 16u* + 4u” + 1

a9 = \y% 4+ 10u' + 38u'? + 68ul0 + 56ud + 14ub — 2u? + 22

—u® — 10u'® — 38u!t — 68u° — 56u” — 14u® 4+ 2u® — 2u
az = u'® 4 9u'? + 30ut + 47u® + 38u” + 16u° + 4uP + u

—u? —6u” — 11u® — 6ud + u
ajp = w? + 5u” + Tu® + dud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u!” — 4416 — 52¢15 — 48u!* — 272013 — 224412 — 728u!t —
508u'® — 1044u® — 568u® — 756u” — 272ub — 224u® — 24u* — 36u> — 4u® — 36u — 6



(iv) u-Polynomials at the component

u-Polynomials at each crossing

Crossings
C1,C5,Cq W+ 4 3u+1
C7,C11, C12
€2,C3,C4 W 230+
€8, €9, C10




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4,C5,Cg y18+25y17+.”+9y+1
C7,Cg,C9

€10, C11,C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

u = —0.065042 + 1.1027001

4.46708 + 1.504031

5.18929 — 4.544901

u = —0.065042 — 1.1027001

4.46708 — 1.504031

5.18929 + 4.544901

u=0.205535 + 1.0914401

— 3.715331

0.+ 4.490651

u=0.205535 — 1.0914401

3.715331

0. —4.490651

u = —0.297449 + 1.1087301

—10.26620 + 4.744871

—0.82347 — 3.519531

u = —0.297449 — 1.1087307

—10.26620 — 4.744871

—0.82347 + 3.519531

u = —0.558415 + 0.3550211

—14.8588 4-1.82841

—5.01513 — 3.290271

u = —0.558415 — 0.3550211

—14.8588 — 1.82841

—5.01513 + 3.290271

u= 0451254 4 0.331288]

—4.46708 — 1.504031

—5.18929 + 4.544901

u= 0.451254 — 0.3312887]

—4.46708 + 1.504031

—5.18929 — 4.544901

u = —0.193258 + 0.2971021

0.7014271

0. —9.963071

u = —0.193258 — 0.2971021

—0.7014271

0.4+ 9.963071

u= 0.04734 + 1.752611

10.26620 — 4.744871

0.82347 + 3.519531

= 0.04734 — 1.752611 10.26620 + 4.744871 0.82347 — 3.519531
= —0.07535 4+ 1.753511 6.309097 0. —2.519861
= —0.07535 — 1.753511 — 6.309091 0.+ 2.519861

—0.01462 + 1.757531

14.8588 + 1.82841

5.01513 — 3.290271

u
u
u
u
u

= —0.01462 — 1.757531

14.8588 — 1.82841

5.01513 + 3.290271




II. u-Polynomials

u-Polynomials at each crossing

Crossings

C1,Cs5,C

1,65, C6 u18+u17_~_”.+3u+1
C7,C11,C12

C2,C3,C

2,C3,04 U18—U17+"'—3U+1
€8, C9, C10




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4,Cs5,Ce y18_’_25y17+“._~_9y+1
C7,C8,Cy

€10, C11, C12




